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o[d0O OO X4Y100 X2Y10
45.0 (mm)x 45.0 (mm)0 360.0 (mm) OO

A=2025 (mm?) Z=15188 (mm3) 1=341719 (mm*)
0000 4.50 O(24.23 0) cosB =0.91

L Fb=28.20 (N/mm?) Fs=2.40 (N/mm?) E=9.800x 10° (N/mm2)
Fsys=1.15 L=L"/cosB =0.500 (m)
Z Wg=300 (N/m2)
| | =837 (N/m2) Cpe=0.50 Kz=0.968
‘ L*=0.455 (m) | Wiw=qx (Cpe+0.8Kz)=1067 (N/m2)

(ool

w=(Wgx cosB )x 0.360=98.3 (N/m)

M=1/2x (wx L2)=12.29 (NOm)

Q=wx L=49.2 (N)

fb=1.1x Fb/3x Fsys=11.89 (N/mm?)

fs=1.1x Fs/3=0.88 (N/mm2)

o /Th=(M/Z)/th=0.81/11.89=0.070 1.0 -------------—-mmuu 0K

T /fs=(1.5x Q/A)/fs=0.04/0.88=0.050 1.0 -----—-----——----—o—- 0K

5 =1/8x (wx L4)/(Ex 1)x 2.0=0.45900 L/200=2.500 (MM) =--==-==-=-—c-mmcmz 0K

[COoO0O0OO]

w=(Wgx cosB -Ww)x 0.360=-285.8 (N/m)

M=1/2x (wx L2)=35.73 (NOm)

Q=wx L=142.9 (N)

fb=2x Fb/3x Fsys=21.62 (N/mm2)

fs=2x Fs/3=1.60 (N/mm2)

o /fb=(M/Z)/fb=2.35/21.62=0.110 1.0 -------—-—---mmmm-—- 0K

T /fs=(1.5% Q/A)/fs=0.11/1.60=0.070 1.0 ------------mmm----- 0K

o[d0Od OO X4Y100 X2Y10
45.0 (mm)x 45.0 (mm)0 360.0 (mm) OO

A=2025 (mm?) Z=15188 (mm3) 1=341719 (mm*)
0000 4.50 O0(24.23 0) cosb =0.91

L Fb=28.20 (N/mm%) Fs=2.40 (N/mm2) E=9.800x 103 (N/mm2)
Fsys=1.15 L=L"/cosB =1.000 (m)
Wg=800 (N/m2)
| |
‘ L"=0.910 (m) |

[0O0]
w=(Wgx cosB )x 0.360=262.1 (N/m)

M=1/8x (wx L2)=32.76 (NOm)

Q=1/2x (wx L)=131.1 (N)

fb=1.1x Fb/3x Fsys=11.89 (N/mm?)

fs=1.1x Fs/3=0.88 (N/mm2)

o /Th=(M/Z)/th=2.16/11.89=0.180 1.0 -------------—-mmu- 0K

T /fs=(1.5% Q/A)/£5=0.10/0.88=0.110 1.0 —--=-—-m=mmcmcmmemm 0K

0 =5/384x (wx L*)/(Ex 1)x 2.0=2.0390 L/200=5.000 (MM) ---------———mmoc--—- 0K
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